INDEX TO EXHIBITORS.

Section 10-AGRICULTURE

ANGEL, R. L., R.M.B. 34, The Rock, N.S.W.

BALCOMB, H. J., Tekoona, Toogong, N.S.W. Black, R. B., and Son, Braemar, Greenethorpe, N.S.W. Booth, H. H., Temagog, Kempsey, N.S.W. Brandon, G. A., 138 Barton st., Kogarah, Sydney. Bright, C. J., Wolli, Somerton, N.S.W. Bushell, A., 7 Ross-st., Windsor, N.S.W.

CAMPBELL, A. M., Billabula, Maimuru, Young, N.S.W.

Campbell, A. M., E., and N., Billabulla, Maimuru, Young, N.S.W. Campbell, A. M., and J. Osborne, Billabulla, Maimuru,

Young, N.S.W. Cox, R. S., Burrell Creek, Wingham, N.S.W. Cox, T. A., Burrell Creek, Wingham, N.S.W. Cronk, V. F. and F. A., Boree Creek, N.S.W.

DAVIS, K. C. J., Forest Vale, Corowa, N.S.W. Devlin, G., Agnes Banks, Richmond, N.S.W. Dutton, I. C., Wilgian Queen Apiaries, Auburn Vale-rd., Inverell, N.S.W.

EWIN, C. W., Fenella, Birriwa, N.S.W.

FISK, A. J., and SON, Busby-st., Condobolin, N.S.W. Flack, G. J., Boultwood, Ungarie, N.S.W.

GORMAN, T. E., and SONS, Fairfield, Yerong Creek, N.S.W.

Gow, C. B., 26 Cox-st., Windsor, N.S.W. Gray Pastoral Co., Hawthorne, Wee Waa, N.S.W. Green, W. E., Ellon Vale, Kildary, Beckom, N.S.W. Gunning, B. B., Bryson Park, Currabubula, N.S.W.

HALEY, P. B., and N. G. SHARPLESS, Kurrajong Park, Manildra, N.S.W.

Harriott, H. M., Jumble Springs, Tullamore, N.S.W. Healey, Mrs. L., and Watts Bros., Bowan Park, Cudal, N.S.W.

Hebiton, M. K., Three Springs, W.A.

Henderson, D. S., and C. M. Moore, Wolngi, Deniliquin, N.S.W.

Hybla Pastoral Co., Hybla, Pallamallawa, N.S.Wt

JENNINGS, A. H., Colinroobie, N.S.W. Johnson, C. R., Buckinbah, Yeoval, N.S.W. Johnston, S., 138 Barton st., Kogarah, Sydney. Jones, E. C., R.M.B. 225, Blow Clear, West Wyslong,

Jones, J. W., and Son, Redlands, Marrar, N. 5.W.

KAROOLA PASTORAL CO., Karoola, Pallamallawa,

Kelly, H., Nareena, Caroda, N.S.W. Kendell, D. and E. T., Brentwood, Lockhart, N.S.W. YOUNG, S. J., 29 Hill-st., Gosford, N.S.W.

LITCHFIELD, R. J., and J. B. STEWART and SON, Kelloe, Merriwa, N.S.W.

Louttit, A., Girraween, Campbell-st., Moruya, N.S.W. Lovell, S. E., Glenroy, Kalang-rd., Bellingen, N.S.W. Lye, W. H., 10 Phillip-st., West Tamworth, N.S.W.

McCLELLAND, J. J., Gerringong, N.S.W. McFadyen, D. G. and J. R., Wilga Park, R.M.B. 7, Lake Cargelligo, N.S.W. McGrath, T. H., P.O. Box 24, Nowra, N.S.W. McGrath, W. H., P.O. Box 24, Nowra, N.S.W. McKenzie, G. and R., Camp Plain, Hillston, N.S.W. McKenzie, J. D., Downside, Wagga, N.S.W. McLean, M. L., Hopefield, Boree Creek, N.S.W. Macdonald, R. I., R.M.B. 17, Tabbita, N.S.W. Murray, M. S., Green Grove, Manildra, N.S.W. Myee Pastoral Co., Myee, Pallamallawa, N.S.W.

NELSON, A. C., Private Bag, Kempsey, N.S.W.

O'BRIEN, J. E., Clairmont, Greenethorpe, N.S.W. O'Loughlin, S. B., Lockwood, Forbes-rd., Grenfell, N.S.W.

PARKWOOD, LTD., Parkwood, Hall, A.C.T. Pfitzner, G. C., Barunga, Rankin's Springs, N.S.W. Philipp, J. R., 23 Yarabah-av., Gordon, Sydney. Phillips, L., Haymarket P.O., Sydney.

REYNOLDS, L. D., Yetholme, Gilgandra, N.S.W. Robson, F. J., Heather Brae, Westdale, Tamworth N.S.W.

Rodway Bros., R.M.B. 199, Koreela Park, Temora,

Ross, J., Rosslea Jersey Stud, P.O. Box 94, Finley,

SCHNEIDER, J., Weeona, P.O. Box 67, Hillston, N.S.W.

Sciffeet, N. J., Amaroo, Binnaway, N.S.W. Simon, C. R. E., P.O. Box 152, Clare, S.A. Small, R., Kolodong P.O., N.S.W.

Smart, L., Cawdor, Camden, N.S.W. Southern Zone District, c/o. W. Thompson, Lynvale, Boorowa, N.S.W.

Stanton, R., 42 Hopetoun-av., Mosman, Sydney. Stevenson, A. G. and W. J., Glen Iris, Marrar, N.S.W. Sullivan, P. T., Bingo, Ulamambri, N.S.W.

TAYLOR BROS., Wilton, Narromine, N.S.W. Trethowan, H. E., Walbundrie, N.S.W. Troy, E. H. A., Ostenleigh, Quandialla, N.S.W. Troy, G. A. E., Gibraltar Rocks, Caragabal, N.S.W.

WHITE, J., Wyoming, Gosford, N.S.W. Whitechurch, C. P., Wendource, Bimbi-rd., Grenfell, Wilson, D., Estate of, The Downs, Warialda, N.S.W.

Section II—DAIRY PRODUCE

BUTTER, DRIED MILK, CHEESE, HAMS, BACON, AND LARD.

E. J. Eggins, M.H.R. (Chairman) P. Charley A. F. Dowie

Committee : E. H. K. Downes Col. T. E. Irwin R. S. Maynard

V. J. G. See E. A. Southee A. J. Tanner

Steward in-Chief : E. J. Eggins, M.H.R.

BUTTER.

Judgen: (Local Consumption): C. Boughton J. T. Dickson, Department of Agriculture, N.S.W., Sydney. D. I. Gillies G. Kent F. W. Wilkinson (Export):
O. K. Belford, Department of Commerce and Agriculture,

Department of Commerce and Agriculture, Margaret-st., Sydney.

C. R. Buttsworth J. McGahey

Stewards :

(Royal Special Export):

Margaret-st., Sydney.

R. W. Kurrle,

Officer-in-Charge, Department of Commerce and Agriculture, London.

Butter in all classes to be made from pasteurised cream and no preservative other than sait to be added. All butter exhibited may be subject to analysis.

Butter, other than that in cold storage, must be in position by 9 p.m., Thursday, 15th March.

BOXES

All butter, specially manufactured and prepared for exhibition purposes, must be packed in PLAIN STANDARD LOCAL BOXES (BRANDED BOXES NOT PERMITTED). All exhibits for Classes 4 to 11 to be addressed to the Secretary, Royal Agricultural Society of N.S.W., c/o. Waterside Gold Stores

All exhibits for Classes 4 to 11 to be addressed to the secretary, Royal Agricultural Society of R.S.W., c/o. Waterside Gold Stores

Pty., Ltd., 10 Point-st., Pyrmont, Sydney, and must be in cold store as stated in each Class.

Exhibitors failing to observe this Regulation are liable to disqualification.

For purposes of identification a label, bearing the full name of the exhibitor (Factory) together with full particlars of the class for which the exhibit is intended, must be securely affixed to the lid of each box before it is wrapped in its protecting cover.

The surface of the butter must be impressed with the Australian Roller brand.

An exhibitor who may desire to go through the exhibits with the judge, after judging day, shall make an appointment through the Steward in-Chief or the Secretary.

Arrival and Departure of Exhibits.

Butter for classes as hereunder mentioned must be addressed to the Secretary. Royal Agricultural Society of N.S.W., Waterside Cold Stores Pty. Ltd., 10 Point-st. Pyrmont, Sydney, and be delivered not later than the dates shown, viz :—

Class 4—Saturday, 6th January

Classe 5, 6 and 7 Wednesday, 10th January

Class 10—Wednesday, 7th March,

Class 11—Friday, 9th March.

Class 8 During January

Class 11—Friday, 9th March.

Delivery of butter will be made not later than 5 p.m. on Wathersday, 28th March. A delivery order from the factory is required when collection is being made by an agent.

Shrape of Export Butter.

All exhibits for storage will be placed in cool chamber and he pt at a temperature not exceeding 20 degrees. The exhibits will be removed from cold store to Showground after judging.

Unclaimed Exhibits.

All exhibits unclaimed on Wednesday, 28th March, will be sent to an agent and sold; the proceeds, less expenses, will be forwarded SCALE OF POINTS FOR JUDGING.

FLAVOUR AND AROMA: Should be clean and mild TEXTURE: Includes body, grain and moisture incorporation CONDITION: Includes salting, colour, packing, and finish	 	Points 50 30 20
TOTAL	 	100

For a big tractive output see the K55 HANCMAG CRAWLER Tractor, **DEMCO'S PAVILION, 134 BENT ST.**

Sec. 11-DAIRY PRODUCE-Butter (Continued).

COMMONWEALTH CONTINUOUS GRADING CLASS FOR BUTTER (Export).

CLASS 1 COMMONWEALTH CONTINUOUS GRA-DING CLASS FOR BUTTER (EXPORT) Special Prizes, £50. First prize, £25; second prize, £15: third prize, £7 10s.; fourth prize, £2 10s., and an Open Order, value £5 5s. each, to the manager and buttermaker of the factory securing first prize. A Cup or Trophy will be presented to the respective buttermakers of the factories securing first, second, third, and fourth prizes. The factories to nominate the recipients of the cups or trophies.

A Bronze Medal will be awarded to each factory gaining a box average of 93.5 per cent over the period of competition, provided that for any one month the average grading of the factory shall not be under choicest grade

of 93 points.

OPEN TO ALL FACTORIES WITHIN THE COMMONWEALTH OF AUSTRALIA

CONDITIONS.

1. The competition is for salted and or unsalted bulk butter submitted and examined in Australia for export to the United Kingdom.

2. The grading period will extend for three (3) months in each State to be concluded before 1st March, 1951. The grading period will be pre-determined by the Department of Commerce and Agriculture as the anticipated peak export period for each State respectively.

3. Each consignment shall consist of not less than 50 boxes and at least three gradings, including at least four churnings, representing at least two vats of crean in each grading, must be recorded each month. A competitor who fails to comply with this condition will automatically become ineligible.

4. The official grading by Commonwealth Officers of all registered choicest brands of factories entered for this competition will be taken for the full period of the competition. The grading points allotted by the Commonwealth Officers in each State will be taken for the full period and a box-average established by dividing the total of the points allotted to each consignment by the total number of boxes graded and the exhibits gaining the highest box averages will be awarded the prizes.

1. Bega Co-op. Society, Ltd.

2. Borthwick, T., and Sons (A asia), Ltd.

3. Bowraville Co-op. Society, Ltd.
4. Camperdown Cheese and Butter Factory Co.,
T. Ltd.

Capel Dairy Co. Pty., Ltd.

Casino Co-op. Dairy Society, Ltd.

Clarence River Pioneer Co-op. Dairy Society,

Cobargo District Co-op. Creamery Butter Co., Ltd.

9.2 Colac Dairying Co., Ltd.

10. Comboyne Rural Co-op. Society, Ltd.

11. Condah Co-op. Butter and Cheese Society, Ltd.

12. Dorrigo Co-op. Dairy Co., Ltd.

13. Downs Co-op. Dairy Assoc., Ltd. (Clifton). Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).

Downs Co-op. Dairy Assoc., Ltd. (Dalby). Downs Co-op. Dairy Assoc., Ltd. (Goombungee). 16. Downs Co-op. Dairy Assoc., Ltd. (Jandowae).

Downs Co-op. Dairy Assoc., Ltd. (Toowoomba). 18.

Foley Bros. Pty., Ltd. (Lismore).
 Foley Bros. Pty., Ltd. (Mullumbimby).
 Glenormiston Butter and Cheese Factory Co.,

22. Gloucester Co.op. Dairy Co., Ltd.

23. Grafton Co-op. Dairy Co., Ltd.

Hall, A. E., and Co., Ltd.

Korumburra and District Co-op. Butter Factory 25. and Trading Co., Ltd.

Logan and Albert Co-op. Dairy Assoc., Ltd. 26. Macleay River Co-op. Dairying Co., Ltd. 27.

Maffra Co-op. Milk Products Co., Ltd. 28. Manning River Co-op. Dairying Society, Ltd. 29.

Myrtleford Co-op. Butter Co., Ltd. 30.

Nambucca Co-op. Society, Ltd. 31.

Newstead Co-op. Butter and Cheese Factory Co., Ltd.

Pambula Co-op. Creamery and Dairy Co., Ltd. 33.

Pyramid Co-op. Society, Ltd.

35. Singleton Central Co-op. Dairy Co., Ltd.

South West Co-op. Dairy Farmers, Ltd. (Boyanup).

South West Co-op. Dairy Farmers, Ltd. (Manjimup).

38. South West Co-op. Dairy Farmers, Ltd. (Margaret River).

South Wolumla Co-op. Creamery Co., Utd.

40. Southern Queensland Dairy Co., Ltd.

Table Cape Butter and Bacon Factory, Ltd. 41.

Trafalgar Milk Supply Pty., Ltd. 42.

Upper Hastings Co-op. Dairy Society, Ltd. Upper Macleay Co-op. Dairy Co., Ltd. 43 44.

Walwa Milk Foods Pty., Ltd. 45.

46 Warwick Co-op. Dairy Assoc., Ltd. (Allora).

Warwick Co-op. Dairy Assoc., Ltd. (Warwick). Western Meadow Gold Dairy Co., Ltd. (Hamilton).

49. Western Meadow Gold Dairy Co., Ltd. (Macarthur).

Wingham Rural Co-op. Society, Ltd. 50.

51. Yea and Mansfield Dairy Co., Ltd.

CLASS 2 THE BLUE STAR LINE CONTINUOUS GRADING CLASS FOR BUTTER (EXPORT) Special Prizes, £40 and Open Orders, value £6 6s., are presented by the Blue Star Line (Aust.) Ltd., Scottish House, 17-19 Bridge second prize, second prize, fourth prize, £2 10s.: and value £3 3s. each, to the manager and business maker of the factory securing first prize. Street, Sydney, viz.: First prize, £20: second prize, £12 10s.; third prize, £5; fourth prize, £2 10s.: and an Open Order, value £3 3s. each, to the manager and butter-

A cup or trophy will be presented to the respective buttermakers of the factories securing the first, second. third, and fourth prizes. The factories to nominate the recipients of the cups or trophies.

A Bronze Medal will be awarded each factory gaining a box average of 93.5 per cent over the period of competition, provided that for any month the

531

Sec. 11-DAIRY PRODUCE-Butter (Continued).

average grading of the factory shall not be under choicest grade of 93 points.

CONDITIONS.

1. The competition is for salted and or unsalted butter submitted and examined in N.S.W. for export to Great Britain.

Each consignment shall consist of not fewer than

50 boxes.

- 2. The Grading Period will extend from 2nd October, 1950 to 31st January, 1951. From the consignments during the month of January, one box may be taken for exhibition at the Show.
- 3. The official grading by the Federal Officers of all the registered choicest brands of factories entered for this competition will be taken each month for the full period and results worked out by taking the actual mean average in which the number of boxes in each consignment, together with the grading points, is taken into account.
- 4. At least three gradings, including at least four churnings, representing at least two vats of cream in each grading, must be recorded each month. A competitor who fails to comply with this condition will automatically become ineligible.
- 5. The grading points allotted by the Federal Grader will be taken for the full period and a box average established by dividing the total of the points allotted to each consignment by the total number of boxes graded.

The exhibits gaining the highest box averages will

be awarded the prizes.

52. Bega Co-op. Society, Ltd.

Bowraville Co-op. Society, Ltd. 53. Casino Co op. Dairy Society, Ltd.

- Clarence River Pioneer Co-op. Dairy Co., Ltd. 55. Cobargo District Co-op. Creamery Butter Co., 56.
- Comboyne Rural Co-op. Society, Ltd. 57.
- Dorrigo Co-op. Dairy Co., Ltd.
- Foley Bros. Pty., Ltd. (Lismore). Foley Bros. Pty., Ltd. (Mullumbimby). Gloucester Co-op. Dairy Co., Ltd. 59.
- 61.
- Grafton Co-op. Dairy Co., Ltd. 62.
- Macleay River Co-op. Dairying Co., Ltd. 63.
- Manning River Co-op. Dairy Society, Ltd. 64.
- Nambucca Co-op. Society, Ltd.
- Pambula Co-op. Creamery and Dairy Co., Ltd., Singleton Central Co-op. Dairy Co., Ltd. South Wolumla Co-op. Creamery Co., Ltd. 66.
- 67.
- 68
- Upper Hastings Co-op. Dairy Society, Ltd. Upper Macleay Co-op. Dairy Co., Ltd. 69. 70.
- Wingham Rural Co-op. Society, Ltd.
- CLASS 3 CONTINUOUS GRADING CLASS FOR BUTTER (LOCAL CONSUMPTION) Special Prizes, £40, viz.: First prize, £20; second prize, £12 10s.; third prize, £5; fourth prize, £2 10s., and a Medal or Trophy to the buttermaker of the factory securing the first prize and a Silver Medal each to the makers of the second, third, and fourth prize exhibits. The factories to nominate the recipients of the medals.

A Bronze Medal will be awarded each factory gaining a box average of 93.5 per cent over the period of competition, provided that for any month the average grading of the factory shall not be under choicest grade of 93 points,

CONDITIONS.

- 1. The competition is for salted butter sold on the local market in N.S.W.
- 2. The Grading Period will extend from 1st March. 1950, to 28th February, 1951. From the consignments during the month of February, one box may be taken for exhibition at the Show
- 3. Every factory competing must grade officially at least 85 per cent of its production as choicest quality.
- 4. The official grading by the State Officers of all the registered choicest brands of factories entered for this competition will be taken each month for the full period and results worked out by taking the actual mean average in which the number of boxes in each consignment, together with the grading points, is taken into account.
- 5. At least three gradings, including at least four churnings, representing at least two vats of cream in each grading, must be recorded each month to enable a competitor to qualify for the prizes.
- 6. The grading points allotted by the State Graders will be taken for the full period and a box average established by dividing the total of the points allotted to each consignment by the total number of boxes graded, and the exhibits obtaining the highest box averages will be awarded the prizes.
- 72. Bega Co-op. Society, Ltd.73. Bowraville Co-op. Society, Ltd.
- 74. Casino Co-op. Dairy Society, Ltd.
- 75. Clarence River Pioneer Co-op. Dairy Co., Ltd.
- 76 Cohargo District Co-op. Creamery Butter Co., Ltd.
- 77. Combovne Rural Co-op. Society, Ltd.
- Dorrigo Co-op Dairy Co., Ltd.
 Foley Bros. Pty., Ltd. (Lismore).
- 80.4 Foley Bros. Pty., Ltd. (Mullumbimby).
- Gloucester Co-op. Dairy Co., Ltd. 81.
- 82.
- Grafton Co-op. Dairy Co., Ltd.
 Macleay River Co-op. Dairying Co., Ltd.
 Manning River Co-op. Dairy Society, Ltd. 83.
- 85. Nambucea Co-op. Society, Ltd.
- Norco Co-op., Ltd. (Byron Bay).
- 87. Norco Co-op., Ltd. (Kyogle).
- 88. Norco Co-op., Ltd. (Lismore). 89. Norco Co-op., Ltd. (Murwillumbah). 90. Norco Co-op., Ltd. (Nimbin).
- Pambula Co-op. Creamery and Dairy Co., Ltd.
- Peters Creameries Pty., Ltd. (Lower Southgate). 92.
- Petris Creameries Pty., Ltd. (Taree). Singleton Central Co-op. Dairy Co., Ltd. 94.
- South Wolumla Co-op. Creamery Co., Ltd.
 Upper Macleay Co-op. Dairy Co., Ltd.
 Wingham Rural Co-op. Society, Ltd.

1951 ROYAL EASTER SHOW

SECTION 11—CLASS 1—COMMONWEALTH CONTINUOUS GRADING CLASS FOR BUTTER (EXPORT)

FIRST: South West Co-op. Dairy Farmers, Ltd. (Margaret River), W.A. (No. 38)

SECOND: Colac Dairying Co., Ltd., Vic. (No. 9)

THIRD: Glenormiston Butter and Cheese Factory Co., Ltd., Vic. (No. 21)

FOURTH: Camperdown Cheese and Butter Factory Co., Ltd., Vic. (No. 4).

	1									neese and		1 4000			(1	4/0	
	COMPETITOR.	STATE	Boxes	AUGUST Grading	Average	Boxes	SEPTEME Gradine		Boxes	OCTOBE Grading		Row	NCVEMB	ER	Por	DECE	BER
	COMPETITION.		Dakes	Pedate			Points		2020	Points	age	D 0.8.		9 2795. 9 289			s age
-	Dan Co en Cod et Itd	NSW	work.							-							
2.	Bega Co-op. Society, Ltd. Borthwick, T., and Sons (A/asta), Ltd.	SA	171	15,812	92.41	133	12,181	91.65						_			
3.	Bowraville Co-op. Society, Ltd.	NSW	_		-							-					
	Camperdown Cheese and Butter Factory Co., Ltd.	VIC			00.74	1576	1/7/17	02.51	3187	298,040			1 466,49	2 93.54	3270	306,78	2 93.8
5.	Capel Dairy Co. Pty., Ltd.	WA NSW	1619	151,763	93.74		147,417	73.04	503	46,996	93.43	-	a diplanente en sa e				-
7.	Casino Co-op. Dairy Society, Ltd. Clarence River Pioneer Co-op. Dairy Society, Ltd.	NSW															
8.	Cobargo District Co-op. Creamery Butter Co., Ltd.	NSW	-			-							-	,			
9.	Calac Dairying Co., Ltd.	VIC	-						8449	790,419	93-55	11226	1052,11	3 93,72	51.55	483,98	1 93.89
10.	Comboyne Rural Co-op. Society, Ltd.	NSW							3000	110 50/		-					
	Condah Co-op. Butter and Cheese Society, Ltd.	VIC	-						1222	113,596	92,96	933	86,769	93	762	70,75	3 92.85
12.	Dorrigo Co-op. Dairy Co., Ltd.	NSW Q'LD										Artes on the	-		200	00.30	
13.	Downs Co-op. Dairy Assoc., Ltd. (Clifton) Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest)	Q'LD				-							******		398 472		93,44
15.	Downs Co-op. Dairy Assoc., Ltd. (Dalby)	Q'LD									-			i-mail	459	42,721	+ 93 , 08
16.	Downs Co-op. Dairy Assoc., Ltd. (Goombungee)	QILD	-		-						-		-	-	1378		
17.	Downs Co-op. Dairy Assoc., Ltd. (Jandowae)	Q'LD							-					Transmit.	1114	103,406	92.82
18.	Downs Co-op. Dairy Assoc., Ltd. (Toowoomba) Foley Bros. Pty., Ltd. (Lismore)	NSW											-				
20.	Foley Bros. Pty., Ltd. (Mullumbimby)	NSW													-		
21.	Glenormiston Butter & Cheese Factory Co.Ltd.	. VIC	-		-				1935	3.85,421	93-55	3815	357,419	93,69	1817	170,420	93.68
22.	Gloucester Co-op. Dairy Co., Ltd.	NSW									-						
	Grafton Co-op. Dairy Co., Ltd.	nsw Sa										-	-	-			
24.	Hall, A.E., and Co., Ltd. Korumburra and District Co-op. Butter	VIC		-		-			3938	366 061	92 06	6610	The state of the s		22:30		
	Factory and Trading Co., Ltd. Logan and Albert Co-op. Dairy Assoc., Ltd.	Q'LD							7770	366,064	72.70	00142	0173	93.03			
27	Macleay River Co-op. Dairying Co., Ltd.	NSW											-		4981	460,523	
28.	Maffra Co-op. Milk Products Co., Ltd.	VIC					Mariana Milana agaram		6250	581,295	93.01	8554	795,220	92,96	4493	417,849	
29	Manning River Co-op. Dairying Soc., Ltd.	NSW	-				-						-		-		
30	Myrtleford Co-op. Butter Co., Ltd.	VIC							2885	268,072	92.92	3698	343,486	92.89	2408	223,811	92.94
31,	Nambucca Co-op. Society, Ltd.	NSW VIC							691	61. 1.77	02 03	750	40.050				
32,	Newstead Co-op. Butter & Cheese Factory	ATO							071	64,477	93.91	752	69,850	12 64			
33	Co., Ltd. Pambula Co-op. Creamery and Dairy Co., Ltd.	NSW	-			-							-		-		
34.	Pyramid Co-ep. Society, Ltd.	VIC	-						984	91,472	92.96	1274	118,461	92.98	813	75,609	93
35	Singleton Central Co-op. Dairy Co., Ltd.	NSW W										-		-			
36	South West Co-op. Dairy Farmers, Ltd. (Boyanu	nun) WA	3111	289,908	93.19	2549	236,480	92.77									
37 , 3 8,	South West Co-op. Dairy Farmers, Ltd. (Manjim South West Co-op. Dairy Farmers, Ltd. (Margaret River)	WA	510	47,896	93.91	138	40,954		216	20,342	94.18						
39	South Wolumla Co-op. Creamery Co., Ltd.	NSW															
40	Southern Queensland Dairy Co., Ltd.	Q'LD		-									-		994	92,442	93
41	. Table Cape Butter and Bacon Factory, Ltd.	TAS	_						2077	193,169	93	7611	150 000	00 00			
42	Trafalgar Milk Supply Pty., Ltd.	NSW			-				2011	193,109			152,782	72 93			~~~
43	Upper Hastings Co-op. Dairy Society, Ltd. Upper Macleay Co-op. Dairy Co., Ltd.	NSW											-				
1.5	Walwa Milk Foods Pty., Ltd.	VIC			-				1635	151,819	92.86	1984	184,512			105,927	93
1.6	Warwick Co-op. Dairy Assoc., Ltd. (Allora)	Q'LD														101,245	
1.7	Warwick Co-op. Dairy Assoc., Ltd. (Warwick)	d.TD	-						671.7			FF 0.0				150,145	
1.0	Western Meadow Gold Dairy Co. Ltd. (Hamilton	n) vio							-711 1572		92,94	793	73,803	93			
49	Western Meadow Gold Dairy Co., Ltd. (Macarth	NSW							1)/2		93.03	1304	127,169	93.23	932	86,750 9	93.08
50	Wingham Rural Co-op. Society, Ltd. Yea and Mansfield Dairy Co., Dtd.	VIC							314	29,202		399	37,107	93			
27	1 Ted dild maintant pound of the												217201	10			100

lest Co-op. Dairy Farmers, Ltd. (Margaret River), W.a. (No. 38) lairying Co., Ltd., Vic. (No. 9) iston Butter and Cheese Factory Co., Ltd., Vic. (No. 21) lown Cheese and Butter Factory Co., Ltd., Vic. (No. 4).

NOTE: New South Wales Factories automatically debarred from competing owing to the fact that during the months of January and February there was a prohibition on the export of butter from that State.

	CTOBER			NOVEMBE		_	DECEMB			JAHUARY		_	FEBRUARY			AGGREGATE	. 12	T
Boxes	Grading		Boxes			Boxes	Can Ling		Boxes	Grading		Boxes	Grading			otal Grading Points	Aver-	
	Points	age		Po = "	FR		Points	age		Points	a, e		Points	Brie	Boxes	POLICS	age	†
	-		-	-						-		-						
					-					-								
			1040			0.050	20/ 800	02.40	-						23 444	1.071.214	02 612	10
3187	298,040	93.52	4987	466,492	93.54	3270	306,782	93.82							11,444	1071,314	93.613	GI Ti
503	46,996	93.43		agrance him ?				-				-			3698	346,176	93.611	-
	=====		-										-					W.
			-	-					-	-						400 tim min min (m) (m)		
					-							-		-				S
8449	790,419	93.55	11226	1052,113	93 72	51 55	483,981	93.89							24.830	2326,513	93.70	
0447	770,417	13-11	11220		7311~	7277	4023702					-						V:
1222	113,596	92.96	933	86,769	93	762	70,753	92,85	-	-	-	-9-00-0			2917	271,118	92.94	- 21
		•																T
				-	-		00.70						00.516	00	705	G/ 252	02 27	37
				Witness Committee		398	37,190			14,415	93		22,546	93	795	74,151	93.27	N
				*****		472	43,863	45:43	328	30,435	92.79	606	64,569	92.77	1496	138,867	74.0)	Q
		-		-	i-merci	459	42,724	93-08	5 17	49,383	93	782	72,313	92.47	1772	164,420	92.79	
				-	-	1378	128,154			121.247	92,77		107.068	92.94	3837	356,469	92.90	
				-	-		103,406		-	09,838	93	1062	98,639	92.88	3142	291,883	92.90	
-			-						234	21,863	93.43	-			-			
										(many transcent		-						,
lada	7.05.103	02 55	203.5	257 (3	02.60	1017	170 /20	00 60	****						7614	712 260	93.68	W
FA45	1.85,421	93-55	381.5	357,41,	93,69	1817	170,420	93.68							7014	713,260	77.00	S
				-					-						-	-		V
		resident.	-	wilden il	-	anteriori	-	-	dalle espera dans	~~~				-				T
3938	366,064	92.96	6042	6175	93:03	2382	221,460	92.97			-	-		-	12,962	1205,425	92.99	N
						- 4-										21010/0	00.00	Q
				-		4981	460,523	92.46	5933	548,501	92:45	4640	425,038	91.60	15,554	1434,062	92.20	2
5250	581,295	93.01	8554	795, 220	22 06	4493	417,849	93							19,297	1794,364	92.99	
	701,277	77,01		(77,000	74.70	4473	4273047	13	-	increase.					17,271			- 1
	268,072	92.92	3698	343,486	92-89	2408	223,811	92.94		age with or balls in					8991	835,369	92.91	7
									-			-	-				-	
691	64,477	93.91	752	69,850	92 89				200.00			-						
			-		-				-	-								
984	91,472	92.96	1274	118,461		813	75,609					P	* *****		3071	285,542	.92.98	
					-													
			-	-														
03/	20.210	01.34						-							116/	100 102	03 81	
216	20,342	94.18		Control Contro	0.000				00 cg/der 140						1164	109,192	93.81	
									-	and the second	-			-		-		
						994	92,442	93	783	12,819	93	. gg= 10.20						
				-					-									
2077	193,169	93	1644	152,782	92.93				White Sings									
									Mrs. A.Fr.									
	151,819	92.86	1984	184,512	93	1139	105,927	03	-						4758	Щ2,258	92.95	
	121,019	92.80	1964	104,712	73		101,245		924	85.742	92,79	1293	119,409	92-35	3308	306,396	92.62	
				-	**		150,145			160,426	92.85	1463	135,540		4806	446,111	92.82	
		92,94	793	73,833					-									
		93.03	1364	127,169		932	86,750	93.08							3868	360,157	93.11	
		93	399	37,107					-		-							
314	29,202		F1 (1(1)	217 114	6.85			and the latest dear the latest									-	

GRADING PERIOD
THREE MONTHS
W.A. Aug.
Sept
Oct.
Sana Augas
Sept.,
Oct.
VicOct., Nov.,
Dec.
Tas. Oct., Nov.,
Dec.
N.S.W. Nov.,
Dec., Jan.
Q'ld. Dec.,
Jan.,
Feb.
THE STOR
ENTRIES
T.T. /
W.A 4
S.A 2
Vic 14 Tas 11
N.S.W 20

- 10

TOTAL - 51

	COMPETITORS	Boxes	MARCH Grading Points	Aver-	Bosse	APRIL Grading Points		Boxes	MAY Grading Points	Aver- age	Boxes	JUNE Grading Points	Aver- age	Boxes	JUIY Grading Points	Aver- age
72.	Bega Co-ep. Society, Ltd.	3347	311,271	93	2694	250,509	92.99	1854	172,422	93	1287	119,691	93	409	38,037	93
73.	Bowraville Co-op. Society, Ltd.	1579	146,081	92.51	677	61,945	91.5	_	-				-	-		-
74.	Casino Co-op. Dairy Society,	12,616	1172,640	92.99	8823	820,431	92.99	4947	460,071	93	2069	192,417	93	1967	182,769	92.92
75.	Clarence River Pioneer Co-	3416	316,877	92.76	1908	177,444	93	1424	132,063	92,74	689	63,866	92.69	307	28,031	91.31
76.	op. Dairying Co., Ltd. Cobargo District Co-op.	2510	233,127	92.88	1330	123,455	92.82	1128	104,904	93	247	22,884	92.65			-
77.	Creamery and Butter Co.Ltd. Comboyne Rural Co-op, Society,	1460	135,681	92.93	869	80,817	93	1111	103,034	92.74	457	42,436	92.86	-		-
78.	Ltd. Dorrigo Co-op. Dairy Co.,Ltd.	2651	245,985	92.79	2452	227,405	92.74	1830	169,102	92-11	631	58,506	92.72	883	82,119	93
79.	Foley Bros. Pty., Ltd.	8560	796,080	93	8087	751,620	92.94	6934	644,734	92,98	2564	238,164	92.89	21,65	229,245	93
80.	(Lismore) Foley Bros. Pty., Ltd.	3965	368,420	92.92	3198	2%,341	92:66	2530	234,761	92579	1257	116,896	92.99	1455	135,288	92.98
aı.	(Mullumbimby) Gloucester Dairy Co., Ltd.	2648	244,268	92.25	-		_	-		ments.	507	46,938	92,58	393	36,478	92.82
10.	Grafton Co-op. Dairy Co.,	2708	250,721	92.58	2332	216,612	92.89	2258	209,994	93	479	44: 547	93			-
8 3.	Ltd. Macleay River Co-op.	1954	181,455	92.86	1450	134,458	92.73	1035	95,963	92,72	632	58,753	92.96	5 75	53,456	92.97
84.	Dairying Co., Ltd. Manning River Co-c. Dairy	1956	181,908	93	1038	96,534	93		-	-					-	-
85.	Society, Ltd. Nambucca Co-op. Society, Ltd.	1178	109,516	92.97	-			-			-					
8 6.	Norco Co-op. Ltd. (Byron Bay)	9644	897,618	92.88	7048	654,162	92.82	8284	769,188	92.85	2022	187,638	92.8	3830	356,050	92.96
67.	Norco Co-op. Itd. fkyogle).	5943	552,256	92.93	4098	380,095	92.75	4117	382,636	92.54	2173	202,089	93	2253	209,363	92.93
88.	Norco Co-op. Ltd. (Lismore).	15,047	1399,179	92.99	13,677	1271,041	92.93	11,745	1091,965	92.77	5847	543,579	92.97	6013	564,701	92.99
MO.	Norce Co-op. Ltd. (Murwillum-	4613	429,009	93	4260	395,935	92.94	3849	357,817	92,90	1230	114,390	93	950	88,350	93
90.	Norce Co-op. Ltd. (Nimbin)	1410	131,024	92.92	935	86,777	92.81	851	79,096	92,94	518	48,174	93	7,7	73,998	92.85
91.	Pambula Co-op. Creamery and	1299	119,959	92.35	674	62,508	92.74	660	61,230	92.77	_			-	-	-
92.	Dairy Co., Ltd. Peters Creameries Pty., Ltd.	1711	158,680	92.74	2074	191,270	92.22	859	79,478	92,52	585	54,075	92.44	-		-
93.	(Lower Southgate) Peters Creameries Pty., Ltd.	4873	452,351	92.83	793	73,683	92.92	1077	99,965	92.32	450	41,636	92.52	830	77,136	92.93
94.	(Taree) Singleton Central Coop. Dairy	1211	112,623	93	-		_			Secret.	-			-		
95.	Co., Ltd. South Wolumla Co-op. Creamery	847	78,771	93	649	60,357	93	604	56,152	93	370	34,420	93	340	31,425	92.43
96,	Co,, Ltd. Upper Macleay Co-op, Dairy Co.,	737	68,530	92.99	-			434	40,323	92.91				Maria		
1	Ltd. Wingham Rural Co-co Society, Ltd.	1873	174,101	92.95	983	91,419	93	944	87,792	93.	374	34,782	93	211	19,535	92.58
																1

	AUGUST.			SEPTEMBER			OCTOBER.			NOVOVIBOR			DECEMBER			JANUARY.	
Boxes	Grading Foints	Aver- age	Boxes	Grading Points	Aver- age	Boxes	Grading Points	Aver- age	Boxes	Grading Points	Aver- age	Boxes		Aver- age	Boxes		Aver- age
			584	54,273	92.93	2160	200,880	93	3238	301,134	93	3064	284,952	93	2299	213,797	92.99
			-		-			-				-	-	-	-		-
2027	262,775	92.96	4072	380,556	93	6188	575,261	92.96	4555	423,923	93.07	6372	592,422	92.97	12,541	1167,648	93.11
371	33,593	90.55	638	58,403	71.54	1393	128,746	92.09	1607	147,870	92.02	1940	179,733	92.65	2085	193,657	92.88
306	26,154	92.01	792	72,644	71.72	1958	178,192	91.01	2512	228,957	91.15	1513	140,222	92.68	2240	208,169	92.68
			448	41,551	92.75	843	78,399	93	1311	121,466	92,65	720	66,679	92.61	1323	122,985	92.96
722	67,070	92.89	867	80,283	92.6	2320	213,953	92,22	3063	281,845	92.02	2577	238,416	92.52	3267	302,974	92.74
3118	288,501	92.53	2778	275,343	92.46	4330	402,690	93	10,993	1022,349	93	2776	015,935	72,77	12, 1,50	1156,434	92.98
1573	146,284	92.99	1919	178,467	93	3521	327,453	93	4899	456,217	33.12	5474	508,904	92.97	4923	457,140	92.86
						1282	118,157	92,17	4278	395,558	92.46	2461	228,346	92.79	3913	361,886	92.48
			534	49,202	92.14	1703	157,645	92.57	1944	180,262	92.73	2924	271,679	92.91	2587	240,468	92.95
			538	50,034	93	626	58,119	92.84	2042	189,886	92,99	1140	105,998	92.98	1767	164,196	92.92
					_	4 हुड	63,984	93	1770	164,610	93	941	87,513	93	390	36,270	93
			507	46,864	92.43	2092	194,123	92.79	2496	231,077	92.58	2601	240,920	92.63	2392	221,070	92.42
4233	390,415	92.23	5479	508,356	92.78	4301	399,383	92,86	4164	386,962	92.93	7503	695,977	92.76	7762	905,612	92.77
2783	258,283	92.81	4180	388,590	92.96	5178	481,554	93	5711	531,123	93	7 56 2	702,746	92.93	6558	609,609	92.96
7286	676,762	92.88	8284	769,555	92.9	11,607	1079,446	93	7950	740,090	93.09	15,696	1461,496	93.11	10,751	1749,009	93.28
1042	96,906	93	2082	193,626	93	3941	366,513	73	6130	579,090	93	4763	442,874	92.98	5633	523,334	92.91
447	41,427	92.68	844	78,492	93	722	67,129	92.98	-	-	-	_		-			_
-		_	385	35,476	92.15	866	79,472	91.77	1027	94,685	92.2	-	-	-	677	62,623	92.5
					-	600	55,482	92.47	*****		-	1195	110,753	42.68	1656	153,039	92.41
1263	116,897	92.56	1135	105,445	92.9	1088	101,025	92.85	3113	288,939	92682	2268	21.0,009	92.6	5373	1498,498	92.8
		-	-					-			-			-			
324	30,077	92.83				662	61,524	92.94	814	75,702	93	727	67,515	92.87	964	89,414	92.75
-					-	345	31,939	92.58	804	74,453	92,6	744	69,139	92.93	871	81,003	93
_	-		-			1688	156,770	92.87	1787	166,065	92.93	1957	181,919	92.96	2344	217,853	92.94

+

-	Boxes	NOVEMBER Grading Points	Aver- age	Boxes	DECEMBER Grading Points	Aver- age	Boxes	January. Grading Points	Aver- age	Вожев	FEBRUARY Grading Points	Aver- age	Potal Boxes	AGGREGATE Total Grading Points	Average	AWARDS
	3238	301,134	93	3064	284,952	93	2299	213,797	92.99	1871	173,997	93			-	
	-			-		_	-		_						-	
	4555	423,923	93.07	6372	592,422	92.97	12,541	1167,648	93.11	8143	760,111	93.35	75,140	6,991,044	93.04	FIRST
	1607	147,870	92.02	1940	179,733	92.65	2085	193,657	92.88	2491	231,559	92.96	18,274	1,691,842	92.58	
	2512	228,957	91.15	1513	140,222	92.68	2246	208,169	92.68	2343	217,084	92.65		Milmongamous	-	
	1311	121,466	92,65	720	66,679	72.61	1323	122,985	92.96	860	79,980	93	-	N9200-		
	3063	281,845	92.02	2577	238,416	92.52	3267	302,974	92.74	2670	247,980	92.88	23,933	2,215,638	92.58	
	10,993	1022,349	93	2776	815,935	72,97	12, 1,50	1156.434	92.98	11,809	1097,517	92.94	33,073	7,720,612	92.937.	
	4899	456,217	33.12	5474	508,904	92.97	4923	457,140	92.86	4505	418,965	93	39,219	3,645,136	92.943	FOURT
	4278	395,558	92.46	2461	228,346	92.79	3913	361,886	92.48	2276	205,840	90.44				
	1944	180,262	92.73	2924	271,679	92.91	2587	240,468	92.95	2573	239,289	93	-		-	
	2042	189,836	92,99	1140	105,998	92.98	1767	164,196	92.92	1624	150,241	92.51				
	1770	164,610	93	941	87,513	93	390	36,270	93	1682	155,874	92.67				
	2496	231,077	92.50	2601	240,920	92.63	2392	221,070	92.42	1463	133,326	91.47				
	4164	386,962	92.93	7503	695,977	92.76	7762	905,612	92.77	9708	902,016	92.91	75,973	7,053,377	72.83	
	5711	531,123	93	7562	702,746	92.93	6550	609,609	92.96	5870	545,755	92.98	56,426	5,244,099	92.937	
	7950	740,090	93.09	15,6%	1461,496	93.11	10,751	1749,009	93.28	1,6652	1548,996	93.02	138,615	12,895,819	93.03	SECOND
	6130	579,090	93	4763	442,874	92.98	5633	523,334	92.91	7585	704,745	92.91	46,078	4,283,589	92.96	THIRD
	-			_					_			-				
_	1027	94,685	92.2	-	-		677	62,623	92.5	_	23/4					
	-			1195	110,753	92.68	1656	153,039	92,41	835	77,576	92.91	***************************************			
	3113	288,939	92.62	2268	21.0,009	92.6	5373	498,498	92.8	4271	395,260	92.55	26,554	2,460,844	92.67	
										-			www.down.com - Third Drive		-	
	814	75,702	93	727	67,515	92.87	964	89,414	92.75	998.	92,070	93	-		-	
	804	74,453	92,6	744	69,139	92.93	871	81,003	93	751	69,743	92.87				
	1787	166,065	92.93	1957	181,919	92.96	23/44.	217,853	92.94	2722	חרו זה	92.97				

-4-11-12-11-1

68. Casino Co.op. Dairy Society, Ltd.

Cobargo District Co-op. Creamery Butter Co., 130.

Comboyne Rural Co-op. Society, Ltd.
 Dorrigo Co-op. Dairy Co., Ltd.

102. Foley Bros. Pty., Ltd. (Lismore).

103. Foley Bros. Pty., Ltd. (Mullumhimby).

104. Withdrawn.

Grafton Co-op, Dairy Co., Ltd.

106. Macleav River Co-op. Dairying Co., Ltd.

107. Norco Co-op., Ltd. (Byron Bay).

108 Noreo Co-op., Ltd. (Kyogle). 109.5 Norco Co-op., Ltd. (Lismore).

110. Norco Co-op., Ltd. (Murwillumbah).

111. Peters Creameries Pty., Ltd. (Grafton).

112. Singleton Central Co-op. Dairy Co., Ltd. 113. South Wolumla Co-op. Creamery Co., Ltd.

114. Upper Macleay Co-op. Dairy Co., Ltd.

ROYAL SPECIAL EXPORT BUTTER PRIZES.

CLASS 5 Butter, salted, 2 packages, not less than 56ib. each. Manufactured and packed ready for export. First prize, £9; second prize, £4 10s.; third prize, £1 10s.

(a) One box to be staged and judged at the Show, the other hax to be forwarded to London and judged there. Points for both judgings, in Syd iev and London, to be added and the prizes awarded to the factories obtaining the high st aggregate points, after points for consistency are taken into account.

(b) Points for consistency in grading will be reconciled by deducting from the aggregate points obtained any points allotted by the judges under the standard of choicest 93 points, e.g., if a butter is awarded 92 points, one point is deducted from the aggregate.

(a) Butter to contain a minimum of 15 per cent of water and not to contain any preservative other than salt.

(d) Butter must be in plain standard local boxes (branded boxes not permitted). For purposes of identification each box to bear a label stating name of exhibitor and number of class to be competed for. Labels will be removed after boxes have been numbered and registered.

(e) The butter will, after judging, be sold on factories' account and returns sent to individual factories by the Society.

115. Candelo Co-op. Dairy Society, Ltd.

116. Casino Co-op. Dairy Society, Ltd.

117. Cobargo District Co-op. Creamery Butter Co.,

will be judged on arrival at Cold Store, prior 121. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).

to being placed in storage, and again prior 122. Downs Co-op. Dairy Assoc., Ltd. (Dalby).

128. Grafton Co-op. Dairy Co., Ltd.

129. Macleay River Co-op. Dairying Co., Ltd.

Maleny Co-op. Dairy Assoc., Ltd.

131. Maryborough Co-op. Dairy Assoc. (Kingaroy). Maryborough Co-op. Dairy Assoc. (Mundubbera).

133. Maryborough Co-op. Dairy Assoc. (Wondai). 134. Norco Co-op., Ltd. (Byron Bay).

135. Noreo Co-op., Ltd. (Kyogle).

136. Norco Co-op., Ltd. (Lismore).137. Norco Co-op., Ltd. (Murwillumbah).

138. Oakey District Co-op. Butter Assoc., Ltd.

139. Peters Creameries Pty., Ltd. (Grafton).

EB 140. Port Curtis Co-op. Dairy Assoc., Ltd. 141. Singleton Central Co-op. Dairy Co., Ltd.

142. South Wolumla Co-op. Creamery Co., Ltd.143. Upper Macleay Co-op. Dairy Co., Ltd.

CLASS 6 Butter, Unsalted, 2 packages, not less than 56lb. each. Manufactured and packed ready for export. First prize, £9; second prize £4 10s.; third prize, £1 10s.

(a) One box to be staged and judged at the Show, the other box to be forwarded to London and judged there. Points for both judgings, in Sydney and London, to be added and the prizes awarded to the factories obtaining the highest aggregate points, after points for consistency are taken into account.

(b) Points for consistency in grading will be reconciled by deducting from the aggregate points obtained any points allotted by the judges under the standard of choicest 93 points, e.g., if a hutter is awarded 92 points, one point is deducted from the aggregate.

(c) Butter to contain a minimum of 15 per cent of water, and not to contain any preservative whatever.

(d) Butter must be in plain standard local boxes (branded boxes not permitted). For purposes of identification each box to bear a label stating name of exhibitor and number of class to be competed for. Labels will be removed after boxes have been numbered and registered.

(e) The butter will, after judging, be sold on factories' account and returns sent to individual factories by the Society.

144. Candelo Co-op. Dairy Society, Ltd.

145. Casino Co-op. Dairy Society, Ltd.

Cobargo District Co-op. Creamery Butter Co.,

147. Dorrigo Co-op. Dairy Co., Ltd.

148,3 Downs Co-op. Dairy Assoc., Ltd. (Clifton). 149. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).

150. Downs Co-op. Dairy Assoc., Ltd. (Dalby).

SMALL TOOLS for the TRADESMAN. DEMCO MACHINERY CO. PTY LTD., 243 Cleveland St., Redfern.

Visit COLES Variety Stores

Sec. 11-DAIRY PRODUCE-Butter (Continued).

152. Downs Co-op. Dairy Assoc., Ltd. (Jandowae).

352-153. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).

197. South Wolumla Co-op. Creamery Co., Ltd. Upper Macleay Co-op. Dairy Co., Ltd.

154. Foley Bros. Pty., Ltd. (Lismore). 155. Foley Bros. Ptv., Ltd. (Mullumbimby).

156. Grafton Co-op. Dairy Co., Ltd.

157. Macleay River Co-op. Dairying Co., Ltd.

158. Maleny Co-op. Dairy Assoc., Ltd. Maryborough Co-op. Dairy Assoc. (Kingaroy).

Maryborough Co-op. Dairy Assoc. (Mundubbera). Maryborough Co-op. Dairy Assoc. (Wondai).

162. Noreo Co-op., Ltd. (Byron Bay). 163. Norco Co-op., Ltd. (Kyogle).

164. Noreo Co-op., Ltd. (Lismore).

165. Noreo Co-op., Ltd. (Murwillumbah).

166. Oakey District Co-op. Butter Assoc., Ltd.

167. Peters Creameries Ptv., Ltd. (Grafton). 168. Port Curtis Co-op. Dairy Assoc., Ltd. 169. Singleton Central Co-op. Dairy Co., Ltd.

170. South Wolumla Co-op. Creemery Co., Ltd.171. Upper Maclesy Co-op. Dairy Co., Ltd.

The "ORIENT LINE JUBILEE COMMEMOR-

ATION CUP" will be presented by the Orient Steam Navigation Co., Ltd., to the Facto. v securing the highest aggregate points of both judgings for each of the above classes (5 and 6).

The butter for London will be shipped per R.M.S. "Otranto on Saturday, 13th January, and the results of the judging in London will be cabled, which will enable the final awards to be announced during the Equal 1951 Royal Easter Show.

CLASS 7 Butter, salted, 1 package, not less than 56lb. Manufactured and packed ready for export. Exhibits to be in Cold Store by Wednesday, 10th January. First prize, £6; second prize, £3 15s.; third prize, £4 10s.

172. Candelo Co-op. Dairy Society, Ltd. 173.3 Casino Co-op. Dairy Society. Ltd.

174. Cobargo District Co-op. Creamery Butter Co.,

175. Comboyne Rural Co-op. Soc ety, Ltd. 176. Dorrigo Co-op. Dairy Co., Ltd.

177. | Downs Co-op. Dairy Assoc., Ltd. (Clifton). 178. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).

179. Downs Co-op. Dairy Assoc, Ltd. (Dalby). 180. Downs Co-op. Dairy Assoc., Ltd. (Goombungee). 181. Downs Co-op. Dairy Assoc., Ltd. (Jandowae).

182. 2 Downs Co-op. Dairy Assoc., Ltd. (Toowoomba). 183. Foley Bros. Pty., Ltd. (Lismore).

Foley Bros. Pty., Ltd. (Mullumbimby).

Grafton Co-op. Dairy Co., Ltd. Macleay River Co-op. Dairying Co., Ltd. Maryborough Co-op. Dairy Assoc. (Kingaroy).

Maryborough Co-op. Dairy Assoc. (Mundubbera). Maryborough Co-op. Dairy Assoc. (Wondai).

Norco Co-op., Ltd. (Byron Bay). Norco Co-op., Ltd. (Kyogle).

Noreo Co-op., Ltd. (Lismore). Norco Co-op., Ltd. (Murwillumbah).

Peters Creameries Pty., Ltd. (Grafton).

Port Curtis Co-op. Dairy Assoc., Ltd.

151. Downs Co-op. Dairy Assoc., Ltd. (Goombungee). 196. Singleton Central Co-op. Dairy Co., Ltd. 197. South Wolumla Co-op, Creamery Co., Ltd.

> CLASS 8 (Special Prize) £10 10s., presented by THE AUSTRALIAN PRODUCERS' WHOLE-SALE CO-OPERATIVE FEDERATION PTY., LTD., DOMINION CHAMBERS, 59 WILLIAM ST., MELBOURNE. Butter, 1 package, 56lb. salted. Open to all N.S.W. factories: to be selected from ordinary export consignments at port of shipment, Sydney and Newcastle, during January, and placed in Cold Store. Such butter to be selected by a Federal grader at port of shipment and taken from the consignment submitted for export.

199. Casino Co-op. Dairy Society, Ltd.

Cobargo District Co-op. Creamery Butter Co., Ltd.

Comboyne Rural Co-op. Society, Ltd. Dorrigo Co-op. Dairy Co., Ltd.

Foley Bros. Pty., Ltd (Lismore). Foley Bros. Pty., Ltd. (Mullumbimby).

Grafton Co-op. Dairy Co., Ltd.

Macleay River Co-op. Dairying Co., Ltd. Norco Co-op., Ltd. (Byron Bay).

Norco Co-op., Ltd. (Kyogle). Norco Co-op., Ltd. (Lismore).

Noreo Co-op., Ltd. (Murwillumbah). Singleton Central Co-op. Dairy Co., Ltd.

South Wolumla Co-op. Creamery Co., Ltd. Upper Macleay Co-op. Dairy Co., Ltd.

BUTTERMAKERS' COMPETITION.

CLASS 9 (Special Prizes) First prize, £10; second prize, £6; third prize, £3. For the maker of the best box of butter, not less than 56lb. Butter to contain a minimum of 15.5 per cent and a maximum of 16 per cent of moisture; also a minimum of 1.3 per cent and a maximum of 2 per cent of salt. A separate exhibit to be provided for this competition. The entry to be in the name of the maker of the butter; the name of the factory to which the competitor is maker to be stated on certificate of entry; the name of the factory shall not be published until after judging. Exhibits to be in Cold Store by Friday, 9th February.

214. Baker, R. 227. Lynch, G. McCann, B.W. 215. Barron, V. 228. 216. Blain, E. 229. McDonald, A. F. 230. McMahon, T. 217. / Browning, C. 218. 2Cheers, O.219. Dougherty, M. J. 231. O'Connor, W. 232. 3 O'Shea, W. 220. Dunning, W. J. 233. Perkins, R. 234. Rollason, B. 221. Dutney, G. Sever, L. D. 222. Gerahty, M. 235. 236. Sugars, M. 223. Green, A. 224. Handford, G. 237. Wakeling, J. 238. Wheeldon, J. 225. Hussey, B. 239. White, S. C. Kedzlie, A. 226.

DEMCO MACHINERY CO. PTY LTD., Australasian Agents for the WORLD FAMOUS HANOMAG Tractors-see DISPLAY, PAVILION, 134 BENT ST.

ROYAL EASTER SHOW, 1951.

BAINY PRODUCE SECTION

ANALYSIS OF RESULTS FOR CLASS 9-BUTTERMAKERS' COMPETITION.

		POINTS ALLOTTED
CAT. NO.	NAME	FLAVOUR TEXTURE CONDITION AWARD.
		50 30 20
214.	Baker, R.	Disqualified - Excess Moisture -
215.	Barron, V.	Disqualified - Salt below Minimum -
216.	Blain, E.	Disqualified - Excess Moisture
217.	Browning, C.	43 30 19 1ST.
218.	Cheers, O.	41 30 20 2ND.
219.	Dougherty, M.J.	
220.	Dunning, W.J.	Disqualified - Excess Moisture
221.	Dutney, G.	Disqualified - Excess Moisture -
222	Gerahty, M.	Disqualified -(Excess Moisture (Salt below Minimum
223.	Green, A.	Disqualified - Salt below Minimum -
224.	Handford, G.	Disqualified - Excess Salt
225.	Hussey, B.	Disqualified - Salt below Minimum -
226,	Kedzlie, A.	Disqualified -(Excess Moisture - (Salt below Minimum
227.	Lynch, G.	Disqualified - Excess Moisture
228,	McCann, B.W.	Disqualified - Salt below Minimum -
229,	McDonald, A.F.	Disqualified - Excess Moisture -
230.	McMahon, T.	Disqualified - Excess Moisture
231.	O'Connor, W.	Disqualified - Salt below Minimum -
232.	O'Shea, W.	$40\frac{1}{2}$ 30 $19\frac{1}{2}$ 3RD.
233.	Perkins, R.	Disqualified -(Excess Moisture -
234,	Rollason, Bl	(Salt below Minimum —
235.	Sever, L.D.	Disqualified - Excess Moisture
236.	Sugars, M.	Disqualified - Excess Moisture -
237.	Wakeling, J.	Disqualified - (Excess Moisture - (Salt below Minimum
238.	Wheeldon, J.	Disqualified - Excess Moisture
239.	White, S.C.	

CLASS 10 PRINT BUTTER, one box containing 54 11b. prints of salted butter. To be printed and packed at the factory and wrapped in special wrappers supplied by the Society. Wrappers will be forwarded to each factory immediately on receipt of entry. The top layer of each box to be laid flat with the printed side of wrappers uppermost. Exhibits to be in Cold Store not after than Wednesday, 7th March, nine days p for to the opening date of the Show. First prize, £8. second prize, £5; third prize, £2.

240. Candelo Co-op. Dairy Society, Ltd. 241. Casino Co-op. Dairy Society, Ltd.

242. Cobargo District Co-op. Creamery Butter Co.,

243. Comboyne Rural Co-op. Society, Ltd. 244

Dorrigo Co-op. Dairy Co., Ltd. Foldy Bros. Pty., Ltd. (Lismore). Foley Bros. Pty., Ltd. (Mullumbimby).

247. Grafton Co-op. Dairy Co., Ltd. 248. Macleay River Co-op. Dairying Co., Ltd.

249. Noreo Co-op., Ltd. (Byron Bay). 250.5 Norco Co-op., Ltd. (Kyogle). 251. Norco Co-op., Ltd. (Lismore).

252.2 Norco Co-op., Ltd. (Murwillumbah).

253. Singleton Central Co-op. Dairy Co., Ltd. 254. Upper Macleay Co-op. Dairy Co., Ltd.

CLASS 11 Butter, 1 package, not less than 56lb. Manufactured for local consumption. Exhibits to be delivered to the Cold Store, where they will be judged, not later than Friday, 9th March. First prize, £8; second prize, £5;

third prize, £2. 255. Candelo Co op. Dairy Society, Ltd.

Casino Co-op. Dairy Society, Ltd. Cobargo District Co-op. Creamery Butter Co.,

Comboyne Rural Co-op. Society, Ltd. 259./ Dorrigo Co-op. Dairy Co., Ltd.

260. Downs Co-op. Dairy Assoc., Ltd. (Clifton). Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest). Norce Co-op., Ltd. (Lismore).

Downs Co-op. Dairy Assoc., Ltd. (Dalby).

Downs Co-op. Dairy Assoc., Ltd. (Goombungee). Downs Co-op. Dairy Assoc., Ltd. (Jandowae).

Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).

Foley Bros. Pty., Ltd. (Lismore). Foley Bros. Pty., Ltd. (Mullumbimby).

268. Macleay River Co-op. Dairying Co., Ltd. Norco Co-op., Ltd. (Byron Bay).

270.2 Noreo Co-op., Ltd. (Kyogle). 271. Norco Co-op., Ltd. (Lismore).

Norco Co-op., Ltd. (Murwillumbah).

Peters Creameries Pty., Ltd. (Grafton). Singleton Central Co-op. Dairy Co., Ltd.

Special Prize £5 5s., presented by the PRODUCERS' 281. Peters Creameries Pty., Ltd. (Taree).

CO-OPERATIVE DISTRIBUTING SOCIETY, LTD., VALENTINE AND QUAY-STS., SYD
CLASS 16 Dried Butter Milk packed ready for the product of the pr NEY, for the factory securing the greatest aggregate number of points in all classes, and special prizes for butter, provided that the mean average of the Continuous Grading Class be included instead of the aggregation. A separate entry will not be required for this prize.

DRIED MILK.

Judges :		Stewards :
R. C. Hottes, Department of Commerce and		
Agriculture, Margaret-st., Sydney.		C. R. Buttsworth
O. K. Belford,	1	J. McGahey
Department of Commerce and Agriculture,		
Margaret-st., Sydney.		

To be judged on the following scale of points:-Points Flavour and Aroma Solubility, Texture and Colour ... 40 Packing and Appearance ... 20 Total ... 100

Exhibits must be addressed to the Secretary, Royal Agricultural Society of N.S.W., c/o. Waterside Cold Stores Pty., Ltd., 10 Point-st., Pyrmont, Sydney, and must be in store not later than Friday, 9th March. Exhibits will be judged during the week prior to the opening of the Show.

CLASS 12 Dried Full Cream Milk (Spray Process). (No entry.)

CLASS 13 Dried Full Cream Milk (Roller Process) packed ready for export in one or more metal containers each containing not less than 24lb. net weight. Exhibits to be in accordance with the Exports Dairy Produce Regulations, including Trade Description and Packing. First prize, £4: second prize, £2; third prize, £1.

276. Casino Co-op. Dairy Society, Ltd. 278. Peters Creameries Pty., Ltd. (Taree).

CLASS 14 Dried Skim Milk (Spray Process). (No entry.)

CLASS 15 Dried Skim Milk (Roller Process) packed ready for export in one package not less than 56ib. net weight. Exhibits to be in accordance with the Exports Dairy Produce Regulations, including Trade Description and Packing. First prize, £4: second prize, £2; third prize, £1.

279. Casino Co-op. Dairy Society, Ltd. South Wolumla Co-op. Creamery Co., Ltd. A 280. Norco Co-op., Ltd. (Murwillumbah).

> CLASS 16 Dried Butter Milk packed ready for export in one package not less than 56lb. net weight. Exhibits to be in accordance with the Exports Dairy Produce Regulations, including Trade Description and Packing. First prize, £4; second prize, £2. third prize, £1.

282.4 Casino Co-op. Dairy Society, Ltd.

HANOMAG K55E crawler tractors for EARTH MOVING. See K55E fitted with dozer. **DEMCO'S PAVILION, 134 BENT ST.**

Visit COLES Variety Stores

535

Sec. 11-DAIRY PRODUCE-Cheese.

CHEESE.

Judge :	Stewards:
J. T. Dickson,	J. Haberfield
Department of Agriculture,	J. D. L. McGibbon
N.S.W., Sydney.	A. B. Shelton
	A. C. Small

One or more entries may be made by exhibitors but only one prize to be awarded to individual exhibitors in any one class.

Exhibits in cheese classes must conform to the following :-

(a) Each cheese of 80lb, or 40lb, shall be rimless unless otherwise specified.

(b) Each Checdar cheese other than Loaf, shall weigh approximately 80lb, or 40lb,

(c) The height of an 80lb, and 40lb, cheese shall be approximately 121 and 61 inches respec-

(d) Cheese shall have a diameter of approximately 7 inches for 10lb. loaf; 77 inches for 14lb. loaf; 141 inches for 40lb. or 80lb. cheese.

SCALE OF POINTS FOR JUDGING.

			- 12	oints
FLAVOUR: Mild and rich				50
TEXTURE AND COLOUR:	Firm, e	lose tex	ture	
and clear, bright colour				30
FINISH: Should be neat, attr	active a	and of c	elean	
commercial appearance				20
m				1 4141
Total	4 6 6		4 + 4	1(H)

The brands on all exhibits will be covered with paper or cloth. All exhibits must be in position not later than 5 p.m. on Tuesday, 13th March. Exhibits will be delivered from 9 a.m. on Wednesday, 28th March.

Each factory must supply agent with delivery order to obtain cheese.

CLASS 20 Continuous Grading Class for Cheese (Special Prizes) £20, viz. First prize, £11; second prize, £6; third prize, £3. A cup or trophy will be presented to the respective cheesemakers of the factories securing the first, second, and third prizes. The factories to nominate the recipients of the cups or trophies.

CONDITIONS.

1. The Grading Period will extend from 1st November, 1950, to 28th February, 1951, and for the month of February one cheese may be taken for exhibition at the Show.

2. The official grading by the State Officers (and in any districts where the consignment of cheese is sold) of all factories entered for this competition will be taken each month for the full period and results taken by working out the actual average over such period.

3. At least four gradings, representing different consignments, each consisting of at least ten cheeses, must be recorded each month. A competitor who fails to comply with this condition will automatically become ineligible for the prizes.

4. The exhibits gaining the highest actual averages will be awarded the prizes.

283. Withdrawn.

Erinna Co-op. Cheese Society, Ltd.

Macleay River Co-op. Dairying Co., Ltd.

286. Manning River Co-op. Dairying Co., Ltd.

287.2 Norco Co-op., Ltd. (Dunoon). 288. Singleton Central Co-op. Dairy Co., Ltd.

289. Tilba Tilba Co-op. Cheese Society, Ltd.

290. Warwick Co-op. Dairy Assoc.

CHEESE FOR EXPORT.

CLASS 21 Two cheeses packed as for export in one crate containing not less than 160lb. net. Packing and crating to be in accordance with Exports Dairy Produce Regulations with the exception that ends of crate shall be unbranded. Each cheese shall be stamped on the side with the date of manufacture and number of the vat and shall be not less than four weeks nor more than eight weeks old at time of judging. First prize, £7 10s.; second prize, £3 15s.: third prize, £1 10s.

291. Girgarre Cheese Factory and Trading Co. Pty.,

292. Macleay River Co-op. Dairying Co., Ltd. 293 Maryborough Co-op. Dairy Assoc. (Tansey). 294 Noreo Co-op., Ltd. (Dunoon).

295. 28ingleton Central Co-op. Dairy Co., Ltd.

CLASS 22 Three cheeses packed as for export in one crate containing not less than 120lb. net. Packing and crating to be in accordance with Exports Dairy Produce Regulations with the exception that ends of crate shall be unbranded. Each cheese shall be stamped on the side with the date of manufacture, and vat number and shall be not less than four weeks nor more than eight weeks old at time of judging. First prize, £7 10s.; second prize, £3 15s. , third prize, £1 10s.

Macleay River Co-op. Dairying Co., Ltd.

297/ Maryborough Co-op. Dairy Assoc. (Tansey). 298.3 Noreo Co-op., Ltd. (Dunoon).

299.2 Singleton Central Co-op. Dairy Co., Ltd.

CHEESE FOR LOCAL CONSUMPTION.

CLASS 23 Two Cheeses, matured, LOAF. First prize, £7 10s.; second prize, £3 15s.; third prize, £1 10s.

300. Buckajo Cheese Factory.

301. 2Girgarre Cheese Factory and Trading Co. Pty., Ltd.

302. Macleay River Co-op. Darrying Co., Ltd. 303/ Maryborough Co-op. Dairy Assoc. (Tansey).
304. Norco Co-op., Ltd. (Dunoon).
305. Singleton Central Co-op. Dairy Co., Ltd.

SPRAY GUNS—AIR COMPRESSORS available from DEMCO MACHINERY CO. PTY LTD. CIRCULAR.

ROYAL AGRICULTURAL SOCIETY OF NEW SOUTH WALES.

ROYAL EASTER SHOW. 1951.

Class 20 - Continuous Grading Class for Cheese.

	COMPETITUPS.		GRADING POINTS	AVER-	UNIT	GRADIN S POINT	G AVER-	UNIT	GRADIN S POIN	G AVER-	UNIT	GRADING S POINTS		TOTAL	TOTAL GRADING POINTS	AVER-	AWARDS
		÷	NOVEMBER	2		DECE4BE	R.		JANUARY			FEBRUA	RY		AGGREGATE.		
283.	Buckajo Choese Factory	4	350	87.5	4	354	88.5	4	348	87	-		-	-		-	
284.	Erinna Co-op, Chase Society, Ltd.	4	344	86	-			5	439	87.8	_			_	2.404	00.00	
285.	Macleay River Co-op. Dairying Co., Lti.	4	355	88.75	7	628	89.71	4	363	90.75	6	546	91	21	1892	90.09	
286.	Manning River Cc→op. Dairying Co., Ltu.	-		-	7	639	91.29	-		_	5	458	91.6			03.40	2MD
287.	Norco Co-op., Ltd. (Dunoon)	9	822	91.33	9	829	92.11	18	1644	91.33	20	1828.5			5123.5	91.49	2ND.
288.	Singlaton Central Co-op. Dairy Co., Ltd.	9	812	90.22	4	363	90.75	6	544	90.67	4	366	91.5	23	2085	90.65	3RD.
289.	Tilba Tilba Co-Jr. Cheese Society, 1 d.	5	443	88.6	4	363	90.75	5	447	89.4	6	536	89.33		1789	89.45	3.05
290.	Warwick Co-op. Dair,	4	364	91	17	1553	91.35	6	548	91.33	7	646	92.29	34	3111	91.5	1ST.

306. Buckajo Cheese Factory.

307.7 Girgarre Cheese Factory and Trading Co. Pty., Ltd.

308. Macleay River Co-op. Dairying Co., Ltd.

309. Maryborough Co-op. Dairy Assoc. (Tansey).
310. Norco Co-op., Ltd. (Dunoon).

311 Singleton Central Co-op. Dairy Co., Ltd.

CLASS 25 Two Cheeses, LARGE, 40lb. or over, not more than 6 weeks old. First prize, £7 10s.; second prize, £3 15s.; third prize, £1 10s.

312. Buckajo Cheese Factory.

313./ Girgarre Cheese Factory and Trading Co. Pty.,

314. Maclesy River Co-op. Dairying Co., Ltd. 318. Maryborough Co-op. Dairy Assoc. (Tansey).

316. Noreo Co-op., Ltd. (Dunoon).

317.7 Singleton Central Co-op. Dairy Co., Ltd.

CLASS 26 Two Cheeses, LOAF, not more than 6 weeks old. First prize, £7 10s.; second prize, £3 15s.; third prize, £1 10s.

318. Buckajo Cheese Factory.

319.2 Girgarre Cheese Factory and Trading Co. Pty.,

320. Macleay River Co-op. Dairying Co., Ltd.

321 Maryborough Co-op. Dairy Assoc. (Tansey).
322. Noreo Co-op., Ltd. (Dunoon).

323, Singleton Central Co-op. Dairy Co., Ltd.

CLASS 27 Two Cheeses, any one variety, other than Cheddar. First prize, £2 10s.; second prize, £1 10s.; third prize, £1.

324 Girgarre Cheese Factory and Trading Co. Pty., Ltd.

325. Macleay River Co-op. Dairying Co., Ltd.

326. Singleton Central Co-op. Dairy Co., Ltd.

CHEESEMAKERS' COMPETITION.

CLASS 28 (Special Prizes) First prize, £8; second prize, £4: third prize, £2. For the maker of the best Cheddar Loaf Cheese not less than 14lb. manufactured and packed ready for storage for local consumption. The cheese shall be not less than eight weeks old at time of judging. It shall carry marks at centre of side surface in rubber stamp or stencil figures indicating date of manufacture, shall be clean-surfaced with neat rims but not waxed or coated, and shall have a diameter of approximately 7 7/8 inches.

The entry is to be made in the name of the maker of the Cheese. The name of the factory for which the competitor is making must be stated on the Certificate of Entry but shall not be disclosed till after judging.

327. Brett, T. 329. / Varnum, M. W.

328. Leslie, J.

CUP OR TROPHY FOR CHEESEMAKER.

(Special Prize) Cup or Trophy, value £5 5s., for the maker of the cheese exhibited by the most successful exhibitor.

The most successful exhibitor to be determined as follows, viz.: -- Only exhibitors with three or more exhibits shall be considered for this prize. The total number of points awarded to each exhibit by the Judge shall be divided by the total number of entries made by the exhibitor and to the result obtained shall be added the following points, viz. :- Three for each first prize, two for second, and one for third; the exhibitor gairing he highest result shall be the winner. In the case of maker who exhibits in the names of two or more 1 ctories, each factory will be regarded as a separate of distinct exhibitor

HAMS, BACON AND LARD.

· Stewards : G. M. D. Carse, D. L. McKie Department of Agriculture, L. M. F. Russell N.S.W., Sydney.

One or more entries may be made by exhibitora in each class but only one prize to be awarded to individual exhibitors in any one class.

ALL EXHIBITS TO BE UNBRANDED (GOVERN-MENT BRANDS EXCEPTED; AND IN UNBRANDED WRAPPERS, and must be in position not later than 5 p.m. on Wednesday, 14th March. Exhibits will not be received after this date. Exhibits will be cut not. more than 24 hours before judging.

Exhibits will be delivered from 9 a.m. on Wednesday, 28th March. Each factory must supply agents with delivery order to obtain exhibits.

No exhibit to be scraped or trimmed in any way whilst in the possession of the Society, except with the written approval of the Secretary; any violation of this rule will disqualify the exhibit.

All exhibits in the Hams and Bacon Classes must have been cured by and on the premises of the factory making the entry.

SCALE OF POINTS FOR JUDGING.

HAMS AND BACON.

P	oints
FLAVOUR: Should be sweet and mild COLOUR: Should be natural and even through-	30
PROPORTION OF FAT AND LEAN: Should	20
be nicely mixed, with lean predominating TEXTURE AND FIRMNESS: Should be fine	20
in grain and firm for cutting CONFORMATION: Shoulders should be fine in bone. Middles should be lengthy and straight in lines. Hams should be plump	10-
and fine in bone FINISH: Should be smooth, bright, and neatly	10-
cut, with smoking not too dark	10-
Total	100

The BIG tractor with the BIGGER PERFORMANCE — HANOMAG DIESEL — see display, DEMCO'S PAVILION, 134 BENT ST.

Visit COLES Variety Stores

Sec. 11-DAIRY PRODUCE-Hams, Bacon, and Lard (Continued).

			Points			
FLAVOUR	100	700.00	444	100	***	40
COLOUR	1111	110	***	444		25
TEXTURE	343	***	***	177	***	25
FINISH AND	APPEA	RANC	E	948	1111	10
Tot	tal	***		***	***	100

CLASS 29 Hams, two, factory cured and smoked. First prize, £4; second prize, £3; third prize, £2.

430. Bellinger River Co-op. Butter and Bacon Co.,

431. Dorrigo Co-op. Dairy Co., Ltd.

Grafton Co-op. Dairy Co., Ltd.

333. Merimbula Co-op. Bacon Society, Ltd.

334. Noreo Co-op., Ltd. (Byron Bay). 335. Riverstone Meat Co. Pty., Ltd.

336. Silvester Bros. Pty., Ltd.

CLASS 30 Bacon, two sides, factory cured and smoked. First prize, £4; second prize, £3; third prize, £2.

337 Bellinger River Co-op. Butter and Bacon Co.,

Dorrigo Co-op. Dairy Co., Ltd.

339. Grafton Co-op. Dairy Co., Ltd. 340./ Merimbula Co-op. Bacon Society, Ltd.

7341. Norco Co-op., Ltd. (Byron Bay). 342. ZRiverstone Meat Co. Pty., Ltd.

343. Silvester Bros. Pty., Ltd.

CLASS 31 Bacen, two flitches, factory cured and smoked. First prize, £4; second prize, £3;

third prize, £2. 344. Bellinger River Co-op. Butter and Bacon Co.,

Dorrigo Co-op. Dairy Co., Ltd.

Grafton Co-op. Dairy Co., Ltd.

Merimbula Co-op. Bacon Society, Ltd.

349. Norco Co op., Ltd. (Byron Bay). 349. Riverstone Meat Co. Pty., Ltd.

Silvester Bros. Pty., Ltd.

CLASS 32 Lard, 56lb, box. First prize, £3; second prize, £2; third prize, £1.

351. Bellinger River Co-op. Butter and Bacon Co., Ltd.

352. / Dorrigo Co.op. Dairy Co., Ltd.

353. Grafton Co-op. Dairy Co., Ltd.

354. 2Norco Co-op., Ltd. (Byron Bay). 355. Riverstone Meat Co. Pty., Ltd.

CLASS 33 Collection, viz. : Two each, Hams, Sides of Bacon, Flitches of Bacon, and Middles of Bacon. To be judged on a maximum number of 400 points. First prize, £7; second prize, £5; third prize, £3; fourth prize, £2. Special entries to be made for this class, and no exhibit in other classes will be allowed to compete.

356. Bellinger River Co-op. Butter and Bacon Co., Ltd.

357.5 Dorrigo Co-op. Dairy Co., Ltd.

358 / Grafton Co-op. Dairy Co., Ltd.

359. Merimbula Co-op. Bacon Society, Ltd.

360. Norco Co-op., Ltd. (Byron Bay).

361. ZRiverstone Meat Co. Pty., Ltd.

362. Silvester Bros. Pty., Ltd.

CUP OR TROPHY FOR BACON CURER.

(Special Prize) Cup or Trophy, value £5 5s., for the curer of the bacon exhibited by the most successful exhibitor in Classes 29, 30, and 31.

The most successful exhibitor to be determined as follows, viz.: Only exhibitors with three or more exhibits shall be considered for this prize. The total number of points awarded to each exhibit by the Judge shall be divided by the total number of entries made by the exhibitor, and to the result obtained shall be added the following points, viz.: Three for each first prize, two for each second, and one for each third; the exhibitor gaining the highest results shall be the winner. In the case of a curer who exhibits in the name of two or more factories, each factory will be regarded as a separate and distinct

exhibitor, 100 Dowlett, Go humaling the 233 points



See display HANOMAG DIESEL Tractors—AGRICULTURAL and INDUSTRIAL— **DEMCO'S PAVILION, 134 BENT ST.**

INDEX TO EXHIBITORS.

Section 11—DAIRY PRODUCE.

BAKER, R. c/m Downs Co-op. Dairy Assoc., Ltd., GERAHTY, M., c/o. Downs Co-op. Dairy Assoc., Jandowae, Q'ld.

Barron, V., c/o. Downs Co-op. Dairy Assoc., Ltd., Girgarre Cheese Factory and Trading Co. Pty., Ltd., P.O. Box 29, Toowoomba, Q'ld.

Bega Co op. Society, Ltd., P.O. Box 2A, Bega, N.S.W. Bellinger River Co-op. Butter and Bacon Co., Ltd., Bellingen, N.S.W.

Blain, E., c/o, Downs Co-op, Dairy Assoc., Ltd., Dalby, Qld.

Borthwick, T., and Sons (A/sia.), Ltd., P.O. Box 53, Mount Gambier, S.A.

Bowraville Co-op. Society, Ltd., Bowraville, N.S.W. Brett, T., c/o. Macleay River Co-op. Dairying Co., Ltd., Kempsey, N.S.W.

Browning, C., c/o. Foley Bros. Pty., Ltd., P.O. Box 39, Lismore, N.S.W.

Buckajo Cheese Factory, Buckajo, N.S.W.

CAMPERDOWN CHEESE AND BUTTER FAC-TORY CO., LTD., P.O. Box 26, Camperdown, Vic.

Candelo Co-op. Dairy Society, Ltd., P.O. Box 5, Candelo, N.S.W.

Capel Dairy Co. Pty., Ltd., Capel, W.A.

Casino Co-op. Dairy Society, Ltd., P.O. Box 22, Casino, N.S.W.

Cheers, O., c/o. Maryborough Co-op. Dairy Assoc., Mundubbera, Q'ld. Clarence River Pioneer Co-op. Dairy Society, Ltd.,

Ulmarra, N.S.W. Cobargo District Co-op. Creamery Butter Co., Ltd., Cobargo, N.S.W.

Colac Dairying Co., Ltd., Wilson-st., Colac, Vic. Comboyne Rural Co-op. Society, Ltd., Comboyne,

N.S.W. Condah Co-op. Butter and Cheese Factory, Ltd., Condah, Vic.

Latin D' DORRIGOCO-OP. DAIRY CO., LTD., P.O. Box 13, Dorrigo, N.S.W.

Dougherty, M. J., c.o. Peters Creameries (Grafton)

Downs Co-op. Dairy Assoc., Ltd., Dalby, Q'ld.

Downs Co-op. Dairy Assoc., Ltd., Goombungee, Q'ld. Downs Co-op. Dairy Assoc., Ltd., Jandowae, Q'ld. Downs Co-op. Dairy Assoc., Ltd., Toowoomba, Q'ld. Dunning, W. J., c/o. South Wolumla Co-op. Creamery

Co., Ltd., South Wolumla, N.S.W. Dutney, G., c/o. Maryborough Co-op. Dairy Assoc., Kingaroy, Q'ld.

ERINNA CO-OP. CHEESE SOCIETY, LTD., Stoney Creek, Bega, N.S.W.

FOLEY BROS. PTY., LTD., P.O. Box 93A, Lismore, N.S.W.

Foley Bros. Pty., Ltd., P.O. Box 53, Mullumbimby, N.S.W.

Ltd., Goombungee, Q'ld.

99 Queen-st., Melbourne.

Glenormiston Butter and Cheese Factory Co., Ltd., Terang, Vic.

Gloucester Co-op. Dairy Co. ,Ltd., Gloucester, N.S.W. Grafton Co-op. Dairy Co., Ltd., Grafton, N.S.W. Green, A., c/o. Norco Co-op., Ltd., P.O. Box 73,

Byron Bay, N.S.W.

HALL, A. E., AND CO., LTD., 176 Morphett-st., Adelaide.

Handford, G., c/o. Downs Co-op. Dairy Assoc., Ltd., Clifton, Q'ld.

Hussey, B., c/o. Dorrigo Co-op. Dairy Co., Ltd., P.O. Box 13, Dorrigo, N.S.W.

KEDZLIE, A., c/o. Norco Co-op., Ltd., Lismore, N.S.W.

Korumburra and District Co-op, Butter Factory, and Trading Co., Ltd., Station-st., Korumburra,

LESLIE, J., c/o. Norco Co-op., Ltd., Dunoon, N.S.W. Logan and Albert Co-op. Dairy Assoc., Ltd., Beaudesert, Q'ld.

Lynch, G., c/o. Candelo Co-op. Dairy Society, Ltd., P.O. Box 5, Candelo, N.S.W.

McCANN, B. W., c/o. Foley Bros. Pty., Ltd., P.O. Box 53, Mullumbimby, N.S.W.

McDonald, A. F., c/o. Casino Co-op. Dairy Society, Ltd., P.O. Box 22, Casino, N.S.W.

McMahon, T., c o. Norco Co-op., Ltd., Murwillumbah, N.S.W.

Macleay River Co-op. Dairying Co., Ltd., Kempsey, N.S.W.

Maffra Co-op, Milk Products Co., Ltd., Maffra, Vic. Prov. Ltd., Lower Southwate, N.S.W. Maleny Co-op. Dairy Assoc., Ltd., P.O. Box 69, Downs Co-op. Dairy Assoc., Ltd., Clifton, Q'ld. Maleny, Q'ld. Manning River Co-op. Dairying Society, Ltd., Taree,

N.S.W.

Maryborough Co-op. Dairy Assoc., Kingaroy, Q'ld. Maryborough Co-op. Dairy Assoc., Mundubbera,

Maryborough Co-op. Dairy Assoc., Tansey, Q'ld. Maryborough Co-op. Dairy Assoc., Wondai, Q'ld. Merimbula Co-op. Bacon Society, Ltd., P.O. Box 6,

Merimbula, N.S.W. Myrtleford Co-op. Butter Co., Ltd., Myrtleford, Vic.

NAMBUCCA CO OP. SOCIETY, LTD., Macksville,

Newstead Co-op. Butter and Cheese Factory Co., Ltd., Newstead, Vic.

Norco Co-op., Ltd., P.O. Box 73, Byron Bay, N.S.W. Norco Co-op., Ltd., Dunoon, N.S.W.

Norco Co-op., Ltd., Kyogle, N.S.W.

INDEX TO EXHIBITORS-Section 11-Dairy Produce.

Norco Co-op., Ltd., Lismore, N.S.W. Norco Co-op,. Ltd., Murwillumbah, N.S.W. Norco Co-op., Ltd., Nimbin, N.S.W.

O'CONNOR, W., c/o. Grafton Co-op. Dairy Co., Ltd., P.O. Box 1, Grafton, N.S.W.

O'Shea, W., c/o. Maryborough Co-op. Dairy Assoc., Wondai, O'ld.

PAMBULA CO-OP. CREAMERY AND DAIRY CO., LTD., P.O. Box 40, Pambula, N.S.W. Perkins, R., c/o. Norco Co-op., Ltd., Kyogle, N.S.W. Peters Creameries Pty., Ltd., Grafton, N.S.W.

Peters Creameries Pty., Ltd., Lower Southgate, N.S.W.

Peters Creameries Pty., Ltd., P.O. Box 103, Taree, N.S.W.

Port Curtis Co-op. Dairy Assoc., Ltd., P.O. Box 45, Monto, Q'ld.

Pyramid Co-op. Society, Ltd., Kelly-st., Pyramid Hill, Vic.

RIVERSTONE MEAT CO. PTY., LTD., Riverstone, N.S.W.

Rollason, B., c/o. Cobargo District Co-op. Creamery Butter Co., Ltd., Cobargo, N.S.W.

SEVER, L. D., c/o, Singleton Central Co-op. Dairy Co., Ltd., P.O. Box 8, South Singleton, N.S.W.

Silvester Bros. Pty., Ltd., 71 Regent-st., Redfern,

Singleton Central Co-op. Dairy Co., Ltd., P.O. Box 8, South Singleton, N.S.W.

South West Co-op. Dairy Farmers, Ltd., Boyanup, W.A. South West Co-op. Dairy Farmers, Ltd., Manjimup,

W.A. River, W.A. South Wolumbs Co-op. Creamery Co., Ltd., South Wolumla, N.S.W.

Southern Queensland Dairy Co., Ltd., Kingston, O'ld. Sugars, M., c/o. Downs Co-op. Dairy Assoc., Ltd., Crow's Nest, Q'ld.

TABLE CAPE BUTTER AND BACON FACTORY LTD., P.O. Box 3, Wynyard, Tas.

Oakley District Co-op. Butter Assoc., Ltd., Oakley, Tilba Tilba Co-op. Cheese Society, Ltd., Tilba Tilba, N.S.W.

Trafalgar Milk Supply Pty., Ltd., Waterloo.rd., Trafalgar, Vic.

UPPER HASTINGS CO-OP. DAIRY SOCIETY, LTD., Randall-st., Wauchope, N.S.W.

Upper Macleay Co-op. Dairy Co., Ltd., Tooraka P.O., Kempsey, N.S.W.

VARNUM, M. W., c/o. Singleton Central Co-op. Dairy Co., Ltd., P.O. Box 8, South Singleton,

WAKELING, J., c/o. Macleay River Co-op. Dairying Co., Ltd., Kempsey, N.S.W.

Walwa Milk Foods Pty., Ltd., Walwa, Vic. Warwick Co-op. Dairy Assoc., Ltd., Allora, Q'ld.

Warwick Co-op. Dairy Assoc., Ltd., P.O. Box 218, Warwick, Q'ld.

Western Meadow Gold Dairy Co., Ltd., P.O. Box 90, Hamilton, Vic.

Western Meadow Gold Dairy Co., Ltd., Macarthur, Vic. Wheeldon, J., c/o. Upper Macleay Co-op. Dairy Co.,

Ltd., Toorooka P.O., Kempsey, N.S.W. White, S. C., c/o. Comboyne Rural Co-op. Society, Ltd., Comboyne, N.S.W.

Wingham Rural Co-op. Society, Ltd., Wingham, N.S.W.

South West Co-op. Dairy Farmers, Ltd., Margaret YEA AND MANSFIELD DAIRY CO., LTD., P.O. Box 4, Yea, Vic.

